Irradiance (mW/m?)

13 Jul 2011 (DOY 194)

GOES X-ray Flux

Fe XVI 33.54 nm (log T=6.43)

c 0.0307[ ]
o X > r ]
W - -
s € 0.0293
C ~—
o) v A PPV € 0.0280
A £ 0.0267
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT) Time (UT)
. ESP 0-7 nm . Fe XIV 21.13 nm (log T=6.27)
 0.583[ ] % 0.02783[
€ 3
> C 1 > C
£ 0.517F 1 £ 0.02717 .
s b A . 13
£ 0450 3 £ 0.02650
g ; 1 % ,
£ 0.383 £ 0.025830
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT) Time (UT)
. Eo-37 nm . Fe XIl 19.51 nm (log T=6.13)
T 2.80F 3 ¢ 0.04633[ ]
S 275k ] = . ]
ETE A w . ‘e, 3 £ 0.04566[ 1T
v 2.70F i g g . 3 +++H
= £ 0.04499F - * o
3 . S *
£ 2.60 £ 0.04433 8 3
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT) Time (UT)
Fe XX 13.28 nm (log T=6.97) . Fe IX 17.11 nm (log T=5.81)
1.05x107° ] ¢ 0.0594[ ]
1 > C ]
1.00x1073 ; 1 £ 0.0581} .
. a B F Fig ]
9.50x107 sy € 0.0568 S
9.00x107* T, Tt £ 0.0554 .F.E,.,n
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT) Time (UT)
. Fe XVIIl 9.39 nm (log T=6.81) . He Il 30.38 nm (log T=4.70)
< 0.0057[ ; i  0.525[ ]
€ + . S
W L + P . ......._. 1 R W - 4
C ATk, C ]
€ 0.0056 ; % it M 3 - € 0515 3
~ H+ + 4+ + + * + + ~ m w 1
o Ch+, X g Afs g — & . o ]
Q 3 + gy o +
€ 0.0055 : : % € 0.505
o + O -
3 Ak ¥ [ + ! T 3 ]
2 oo00s4Prr o ¥ | # | # £ 0.495 ]
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT) Time (UT)



Time (UT)

E ESP 0—7 nm
> 0.583F 3
E 0517F =
) = AN 3 3
O 0.450 Ng N
c FAvemr” NS \A MJ\A [ Y
2 0.383E SNt 3
g 18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
- Time (UT)
NE ESP 17.1 nm
> 0.70F =
£ 068E = =
[0 = Py - 3 -
S oo —A— T S ——
-6 .
§’ 18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
- Time (UT)
NE ESP 25.7 nm
= 0.42 -y -
EomE =
= AR Sl
§ 0.40 WW 3
O
= 0.39
e
§’ 18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
- Time (UT)
€ ESP 30.4 nm
> 0.90F ) =
£ o085E "ﬁ =
o.so% — —— ‘a_
o RS S = sl
= 0.75
e
§’ 18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
- Time (UT)
€ ESP 36.6 nm
~
= =
E =
[0} =
18] ¥
g +
§’ 18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
- Time (UT)
€ MEGS—P 121.6 nm
> 11.07F =
E — —
S 8.40F -
[5) C + = s &+ 4 ¥ 2 |+ ¥ + + &+ 9 ¥+ e L i p ¢ + = =
S 5.73F t E
c = =
= 3.07C -
el
g 18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00



E Fe XX 13.28 nm (log T=6.97)
> 1.05x107°F
S = +
:1.OOX1O4E + M +++ +:“‘+ ot 3 3
© 9.50x10°
2 9.00x107™ et AN B 4 "
e 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Fe XVIIl 9.39 nm (log T=6.81)
> 0.0057F T T m "
E 0.0056 F - . * K be 4 7 : *_,
E o+ s . o t 4 + + +
S 0.0055 5t ; : 4 N
o ik A 3 L
5 0.0054 BFets + + i o 4 %
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
ks Fe XVI 36.08 nm (log T=6.43)
> 2.25F =
E 175E =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Fe XVI 33.54 nm (log T=6.43)
= 0.0307
E 0.0293
$ 0.0280 §
2 0.0267 )
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Fe XV 28.42 nm (log T=6.30)
> 0.056F
E 0.054F
[0] Fo+ + t
S 0.052 -
2 0.050
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
k= Si XIl 49.94 nm (log T=6.29)
> 0.0185F . r 3
€ - + P ¥ L +  + + P ¥ " s 3 i —
< 0.0180F E ¥ = ¥ T F Y e —
9 E¥ oy AR 3 q ¥ 4 3
8 0.0175 ¥ T 1
2 0.0170E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ Fe XIV 21.13 nm (log T=6.27)
> 0.02783F
E 0.02717F
8 0.02650 : i
-2 0.02583 Y
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ Fe Xl 20.20 nm (log T=6.19)
> 0.04083F . | =
E 0.04017F =
[0 - Tk,
9 0.03950 [
< B s [ ‘*
-2 0.03883E § %
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



(mw/m?)

Fe XIl 19.51 nm (log T=6.13)

0.04633F
0.04566 _—
6 0.04499 %
2 0.04433
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Fe XI 18.04 nm (log T=6.07)
> 0.058F =
E 0.057F n =
8 0.056 P W
2 0.055
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
'E Mg X 62.49 nm (log T=6.05)
0.0112F R » ]
£ oomof ; ; R £ L Ergigt 1 il 4 s
' E * 3 ¥ + 1 + ! 1 E
$ 0.0108 4 +,ff‘4; TR i ﬁ_
2 0.0106E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Mg IX 36.81 nm (log T=5.99)
= 0.040 | =
E —
£ 0.038 ¥ : -
b F 2 ﬁ - =
o i
© 0.036F - ;
2 0.034
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
£ Fe X 17.72 nm (log T=5.99)
= 0.0395F . =
c - - SV L4 -
E 0.0390F i ; — - =
[0 =
© 0.0385 L i e
-2 0.0380#
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
£ Ne VIl 77.04 nm (log T=5.81)
= 0.0157F =
E 0.0143F | £ =
[} - =
9 0.0130 2 : 4 . . ¢
e 00O ¥ I o A3 MR O R ;
8 go117E 4 o4 s t|s 3 o+ 2 ¥ i1 v 9
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
£ Fe IX 17.11 nm (log T=5.81)
> 0.0594F
E o0.0581F -
$ 0.0568 F
2 0.05548 NS R A
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Ne VIl 46.52 nm (log T=5.71)
> 0.0168F =
€ = + + + + -]
£ 0.0163 ¥ +
TR EREEE.. . AR IEE R E
$ 0.0158F Py sl e dy : B B
2 0.0152E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



Fe VI 13.12 nm (log T=5.57)

Time (UT)

§ 2.828x107°E
c _3: + . . N Lt
\;2.761><1O e e P IR, ;e
-3 b
© 2.695%x107° s i : A ¥ VR .[
5 2.628x107° KX~ T, L A, :
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
e O VI 103.19 nm (log T=5.47)
> 0.068F ) =
E — —
E 0.062F ¥
- * ¥ LI
e TRER R YR FINERERY . Py 'ERRE
c N - =
£ 0.052E =
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
£ O V 62.97 nm (log T=5.37)
> 0.0524F =
E — —
E 0.0511F =
9 PR . F SN -
© 0.0498 4%+ F ¥ |7 3 — % ¥
S E ¥ 4§ £ 1 ¢ 3 4 # ¥ j
2 0.0484F LI A BN * i
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
NE O IV 79.02 nm (log T=5.19)
0.01683F 3
= - -
E 0.01617F f TES P, ; R F 3
0 - H i ) $ . h’ i $ 3 + -
© 0.01550 F4—+—+ §i[r g v ¢! : ! LR O
2 0.01483E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E O IV 55.44 nm (log T=5.19)
> 0.0248F =
€ - + -
E 0.0243F P
o CLF oy B PP IR EERE
£ 13 ¥ % +
© 0.0238F E N ¥ -
2 0.0232E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
£ O Il 59.96 nm (log T=4.92)
> 0.0048F + N 1 +
€ gooa7Et-t 3 4 It i L A S v PR S | [ i + f % j
. = i i
- SO RN P 3 A gvt 1 1 ¥ ¢ ¥ 3
$ 0.0046 F VB SR % ik A ! =
= N - M =
-2 0.0045E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E O Il 52.58 nm (log T=4.92)
> 2.60x107°F m " =
€ -3 H 4+ * + N | X -
E 2.55%x107 I " " 7 * T
) 50)(10-3: s 3 i h e, M f i f ¥ + Pt ¥ o4 o f by
g2 PSR IS i [P | MENEEE RS
‘.8 2.45X1O_3_ * + E f + + 4+ + - =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
e C Il 97.70 nm (log T=4.84)
> 0.1527F =
E — —
E 01461 F =
[} - =
O 0.1394
c - b + ¥ ¥ 3 ; ¥ =
-30.1327—i‘*f**iani#,.:g*:‘ffw** 4 + "t 3
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00



Irradiance (mW/m?)

0.03679
0.03612

He Il 25.63 nm (log T=4.75)

Time (UT)

0.03545 _ ; ; =
0.03479 T ’ =
18:00 22:00 02:00 06:0 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
e He Il 30.38 nm (log T=4.70)
> 0.525F
E —
E os15EF A "Mé
= # -~
8 0.505 a =
£ 0.495 =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
e O Il 71.85 nm (log T=4.48)
= 0.0030F J =
IS — & o bl —
E 0.0025F ¢ =
E s i H ¥ ¥ Mf, t ) -
$ 0.0020F ! 4 ¢ bl3 g, e ¥ §3 TR i ¢ T§1$1$3
2 0.0015E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ He | 58.43 nm (log T=4.16)
> 0.054F %
E 0.053F - ] ; T
(0] - 3 ¥ 3 b4 3 * =
S 0052 PR PRSP S B W 3
2 0051E * 3 ¥ 1 3
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E H 1 102.57 nm (log T=3.84)
> 0.098F =
€ 0.092F -
— U. - R N 4 ¥ P ¥ 4
8 oosst + + ¥ ¢ f!‘*!tzitti**im**‘ vt z
c N — ¥ M =
2 0.083E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E H197.25 nm (log T=3.84)
> 0.024F | f =
E — + i —
£ 0.022 «
+
S : i ! KL e
§ 0.020: + £ i3 f ; s 1 ¥ i i j 3 % + i 3 i | 3 ¥ E
£ 0.018E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00



AlA 94 Channel

Irradiance (mW/m?)
~
~
o

700 B
18:00 10:00 14:00 18:00
Time (UT)
£ AIA 131 Channel
~
g
*
~ %
[0}
Q
C
S
°
g 1800 10:00 14:00 18:00
- Time (UT)
A AIA 171 Channel
> 9.8x10* ;
E 9.6x10*
8 9.4x10" g
2 9.2x10*
2 18:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
ks AIA 193 Channel
> 1.26x10°F
€ 5
S 1.24x10 - ¥ %
8 1.22x10°E
2 1.20x10°
2 18:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
A AIA 211 Channel
> 4.9x10*F
E 4.8x10°F
) - 4+ &
© 4.7x10*
2 4.6x10*
2 18:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
ks AlA 304 Channel
> 1.95x10°
E 1.90x10*
° * ¥
© 1.85x10*
2 1.80x10*
2 18:00 10:00 14:00 18:00 22:00
- Time (UT)
ks AlA 335 Channel
~
Z \
~ 4 3
[0}
Q
C
S
°
g 1800 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



MEGS ESP 17.1 nm

€

2 0.73F . =
< 0.72 e b

S 071F 4 Tvﬁﬁwé

c - =
2 0.70 m* nadh 3

g 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)

MEGS ESP 25.7 nm

<+

Irradiance (mW/m?)
o
~
o

0.44
0.43
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)

ks MEGS ESP 30.4 nm
~
z |
p 1 "'v‘aﬂj
[0 ﬁ -
18]
S =
el + -
e
g’ 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
ks MEGS ESP 36.6 nm
> 0.20F T E
E o019 ‘
S 0.18F :
2 0.7
g’ 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



MEGS—A1

Time (UT)

E
> 0.507F N 3
E 0.493F I ©
[ - % 1 " =
O 0.480 P
C it +,
S ‘
S 0.467 ‘ Horoupimigu it
el
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:
- Time (UT)
€ MEGS—A2
z |
E * -
~ ﬁbwé
[0} =
18]
© =
O + =
e
S 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06
- Time (UT)
€ MEGS—B Short
= -
0.325F
T - $ ¢ % o . ¢ . | .
£
E 0.320F 4 ¥ PR
= 0| i % i 4 1 =
S 031524 i E -
§ 0.310F i ’I * 3
'-5 .
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06
- Time (UT)
e MEGS—B Middle
> 0.215F =
E — ; 4 4 R —
E 0205 5 - ; " ¢ =
¢ =
¢ 0195t . i i
g N - ¥ Y[ 1 ¥ # # ¥ 2
2 0.185E =
el
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06
- Time (UT)
ks MEGS-B Long
~
= 100: -
€ = - -
E 0.95F 3 T E " -
c - * —]
S ossE? LI S N P B I i 3
S 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06

00



